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174 5.3.3 9,680|¥~-TT7AF U RHE) [15—rvheransoft G | ISR B E A
176 5.3.6 4,950|NTTT7 A F Y RH) [ros-rormmens e |BBEHER
177 5.3.6 1335|NTTI7/F U A(#5) |BIER (1~284) 4007 x 1/3

1= 109,071




F754%N (E2&B R

HINEFDELERE
7 B =BE
EBEES (XHEAH XHE X LR )
. 181 5.3.22 845| TR T 1 A—~(#8) A Th— S TP L4 | 2,537 X 1/3
186 5.3.31 329INTTO7A T AR [(HEHEBEEIC (SAZ) [12999H x 1/4

=1

4,094




F75H= (F258K%)

MEINEFENDELER R

g B N

BEES |XHFAR XHE X% M e
14 4.4.25 100,000| B8 s (4B BISEEBEE
32 4.5.25 100,000 =M E #5 (6A%) BEHEE
46 4.6.24 100,000 B E #BE5 (8RS BAEBEAE
62 4.7.25 100,000 = A wE (7AM BISEBEE

- 74 4.8.25 100,000\ BB S 5 (8AM) BUSEBEE
91 4.9.22 100,000\ £ E wE (9L E&%%EEEJJ%E‘
103 410.25 100,000\ EHHE #5 (105 BEEMEE
117 4.11.25 100,000 =8 HwEs (11AH) BEEREE
132 4.12.23 100,000| =8 w5 (1284) B EB R
151 5.1.25 100,000| = BB E HwE5 (1A BUSEBEE
166 5.2.24 100,000 =M A we (2AM BSEHEE
182 5.3.24 100,000| EHME #Hs5 (3AH) |mHEREE

= 1,200,000




